Best model for HELP J143051.896+325913.114 atz = 0.71 )(2=3.62
OPTx?=4.04 IRx?=2.42 threshold (OPT IR)=13.68 [um]

102 3 : Stellar attenuated
3 = - Stellar unattenuated
—— Dust emission
1 —— AGN emission
10" 4 . = Model spectrum
] ® Model fluxes
i M oObserved fluxes
— 10° 4
> E
- -
E‘ I g ]
é 10_1 E qq{".' .
[ Jay e :
] 1 \:\\
102 4 :
10°3 3
X E
=} ]
q_— 1 B
© 1 == (Obs-Mod)/Obs
S ]
S ]
7 ]
] 0 e e o el e iy e e e
o ]
) ]
2 ]
5 ]
© -1 I T ——T T CiGEAL
()
(o'

10° 10! 102 103 10 A
Observed wavelength [um]



